il

d?c / d N d p" [pbiGeV]
|_\

=

Ratio to ATLAS

<
=

o
R

o
@

<
SN

0.5

13000 GeV pp tt
—r ] r-r-r-ro-[pc-r-r T T T T g
— top . . - é
— pT (ATLAS semileptonic ttbar) 13
- 18
- 0O

—

A\

— do

— O

" ik

. 04

B 1=

™

<

— Ho

— i )

L —q ™M

- e |

— =

— 4

m  ATLAS %

= —a— Pythia 8.308 default 3 °

= .+ Sherpa2.2.5 default - aks

H ; 43

- -2

o

| ] (@]

— RO T N SO AT SO SO RO AN EN N PN SRR N = =
: T | T T T T | T T T T | T T T T |:

— —2

// ;
— ------------------------------------------ ’ —
- ’ ......... 0 """""" : —
_¢¢ o —0.5

P R T T TR S O T T T S T T T S l
500 1000 1500 000

2
pf;had [GeV], |\Fxtrajet <2



	Contents
	Page 1


